RZ2A-72/1800

Moa. Ne HaumenoBanne ungp neranan EUR
02.  Haknaaxa xopmyca RZ1-70.00.00.14A RZ1-70000014A 0,61
03.  @maner; RZ1-70.00.00.23 RZ1-70000023k 0,20
04. TIuneHbni quck 205x30x24z 300522 1,28
05. Brynka RZ1-70.00.00.24 RZ1-70000024k 1,55
06. Bunt M4x8 DIN 965 216320-A 0,01
07.  ®naner RZ1-70.00.00.22 RZ1-70000022 0,14
08.  Ka6emb B coope HOS RN-F 2x1 301399 1,71
09.  Tpybka 3aummtHas [E-5709.00.00.18-01 570900001801k 0,07
10.  Beixirouarens TNO6 (10A) RZ2-70-10 0,55
11.  Buar M8x20 DIN 912 215924 0,09
12.  Mlaii6a IE-5107-0000-053 51070000053k 0,07
13.  Buar M6x20 DIN 84 216617-A 0,01
14.  Iaii6a M6 DIN 125 215253-A 0,01
15.  Kumn RZ1-70.00.00.34B RZ1-70000034Bk 0,27
16.  Ilmacruxa RZ1-70.00.00.33A RZ1-70000033 Ak 0,06
17.  Ymko RZ1-70.00.00.32A RZ1-70000032A 0,01
18.  Taiika M6 DIN 934 215004-A 0,01
19. Haxmazaka pysku RZ1-70.00.00.18-K RZ1-70000018k 0,48
20.  Bunat M4x20 Spez 16 215776-A 0,01
21. Ipyxuna RZ1-70.00.00.29A RZ1-70000029Ak 0,09
22.  Bunr M4x16 DIN 84 216606-A 0,01
23. Ilaii6a npyxuanas M4 DIN127 215258 0,03
24. Ilaitba M4 DIN125 215257-A 0,01
25.  Bunt M4x20 DIN 84 216608-A 0,01
26. Ilaii6a npyxunnas M4 DIN127 215258 0,03
27. Illait6a M4 DIN125 215257-A 0,01
28.  Koxyx 3aumrtHsiii RZ1-70.09.00.00 RZ1-70090000 1,44
29. Kpsimxka RZ1-70.04.00.06 RZ1-70040006k 0,92
30. Tommmmuauk 6202 2Z (80202) 300810 0,73
31. Kommnencarop RZ1-70.04.00.05 RZ1-70040005k 0,10
32. Koo cronoproe 35x1.5 DIN 472 300495 0,07
33.  Hlnuagens B cbope RZ1-70.04.01.00 RZ1-70040100 2,46
35. Togmmmnauk 629 Z (60029) 300822 0,53
36.  Kopmyc RZ1-70.08.00.00 RZ1-70080000 4,20
37. Bunr M4x16 SPEZ 16zn 215779-A 0,01
38.  Hlxama nporuna RZ1-70.00.00.46 RZ1-70000046 0,01
39.  Pyxosrka RZ1-70.00.00.17-K RZ1-70000017k 0,70
40.  bmok snextponnsiit DS12A DS12A 1,74
41.  Kongencarop MEX GPF 40/085 0.22 mF 301447 0,11
43.  Bonr M6x120 DIN 603 215565 0,16
44.  Ocuosanue RZ1-70.03.00.00 RZ1-70030000k 3,27
45.  Jluneiika Hanpasisromas RZ1-70.05.00.00A RZ1-70050000Ak 0,78
46.  Bont M6x20 DIN 999 215431 0,04
47.  1llait6a M6 DIN 125 215253-A 0,01
48.  Illait6a M6 DIN 125 215253-A 0,01
49. Taiika M6 DIN 934 215004-A 0,01
50.  Ilaii6a npyxuunas M6 DIN 127 215402-A 0,01
51. Taiika cnenuansHast RZ1-70.07.00.00 RZ1-70070000k 0,18
52.  Cekrop RZ1-70.00.00.31 RZ1-70000031k 0,20
53.  Bonr M6x14 DIN 999 215429 0,03
54.  IIpuwxum RZ1-70.00.00.51 RZ1-70000051 0,13
55.  Hogmmmnzuk 6201 2Z (80201) 300838 0,67
56.  Slkops RZ2A-72.01.00.00 RZ2A-72010000 9,93
57.  Hogmmmnzuk 6201 2Z (80201) 300838 0,67
58.  uadparma RZ1-70.01.00.06 RZ1-70010006 0,09
59.  Crarop RZ2A-72.02.00.00 RZ2A-72020000 5,98
63.  Kopmyc RZ1-70.01.00.07-K RZ1-70010007k 1,31
64.  Ilaii6a npy:xuanas M4 DIN127 215258 0,03
65.  Illaiica M4 DIN125 215257-A 0,01
66.  Bunt M4x25 DIN 84 216609-A 0,01
67.  Kpsimka RZ1-70.00.00.19-K RZ1-70000019k 0,33
68.  Bunt M4x16 SPEZ 17zn 215785-A 0,01
69.  Bunt M4x12 DIN 84 216604-A 0,01
70.  Ilait6a M4 DIN125 215257-A 0,01
71.  laii6a npyxunnas M4 DIN127 215258 0,03
72.  Ilpyxwuna IE-5708-0130-003-02 57080130003-02 0,06

17



